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O What is the primary purpose of the passage?
O What is the best title for the passage?
O  Which of the following best describes the author's attitude toward ...
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O  Which of the following best reveals the author's attitude towards ...
O What does the passage mainly discuss?
O  What is the main idea of the passage?
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The forest from which Man takes his timber is the tallest and most impressive plant community on Earth. In terms
of Man's brief life it appears permanent and unchanging, save for the seasonal growth and fall of the leaves, but to

the forester it represents the climax of a long succession of events.

No wooded landscape we see today has been forest for all time. Plants have minimum requirements of
temperature and moisture and, in ages past, virtually every part of Earth's surface has at some time been either too
dry or too cold for plants to survive. However, as soon as climatic conditions change in favour of plant life, a

fascinating sequence of changes occurs, called a primary succession.

First to colonize the barren land are the lowly lichens, surviving on bare rock. Slowly, the acids produced by these
organisms crack the rock surface, plant debris accumulates, and mosses establish a shallow root- hold. Ferns may
follow and, with short grasses and shrubs, gradually form a covering of plant life. Roots probe even deeper into the
developing soil and eventually large shrubs give way to the first trees. These grow rapidly, cutting off sun light
from the smaller plants, and soon establish complete domination---closing their ranks and forming a climax

community which may endure for thousands of years.

Yet even this community is not everlasting. Fire may destroy it outright and settlers may cut it down to gain land for
pasture or cultivation. If the land is then abandoned, a secondary succession will take over, developing much faster
on the more hospitable soil. Shrubs and trees are among the early invaders, their seeds carried by the wind, by birds
and lodged in the coats of mammals. For as long as it stands and thrives, the forest is a vast machine storing energy

and the many elements essential for life.

). Why does the forest strike mankind as permanent?
V) It is an essential part of our lives. Y) Itis renewed each season.

Y) Our lives are short in comparison. ) The trees are so tall.

waasnss L0 Ugild g le s 515 12 S 0365y 1&



?fl ; S5l o S,
5B (5555 oSS oo S

plod Jlo Ohl58 (gln ol (Son oS i (oo JS23 gl 5o (sl anelz g Wgd (o0 SuOP oS @ 0 (o b JolS oS oS

9k
15 et e 31 |y o] sl S Lt § 1S 05 SLolS |y ] T sl S s (gl 55 Aol ol i Sl ol
Bt dslns S5 )0 45 00,5 walys ale a3l s 05 by cyne el 51w 5T sl Cess @y ooy (iS5 L5 o8, e
2 ok bg ooy ol g Ll sla asls a8 cizm sl Loz loe oo jo iz )0 g Lo azeis j0 sy (oo (2 55 5
Sl 3. 5571 4 sl (1 00,2 e ISz 009, oy 5 0L plgd ald ol o5 ey b ogds e o il (il

S (o 0|y Ol (659,00 yolis )

(o) Vau;s )

! 0U95 QT L> Ml&u ) Lo Gfdg) ®

s 5 Ao S g g (o8l Sz o S i) g (b ) 5 Sl 8o sl paitie (Swsy el 2 dlez 4 a2 gs L
(o) Y auys .Y
¢l cwwuubfuﬁ)w)‘wb@gksf«}d}wdf}) L

oo g ol o lpss @

Oy g 1 (a5 e @ bly p0 i indS Jlasl o g diid Cogb, 9 Bl a2 )0 JBlas wiesls (LS akex 4 a2 b
Bk oo gz VA S ol oo 0pw (B b St (L plalS e ol ol
(4o y) € i3S .Y

Eo5l o0 S o o5 (yilys ) gz az "adsl g 5 @

lo Sods 5l @

il (oo el iy S (9, &5 caiinnd Sz65 (gl S wigd oo (S 2L e 0 8 ploger (gl dhex w4z L
oS ain) L o5 5 il (o0 ot (2L (Ll Bl o ]y S s logzrge il Jawgs o algs gLl slyl &,
ol gz £ 43S TS oo Ly Bes o5 slo
15 e cpatd L Sl il | 4l 580 e Lot o st Y Lot ¥l 95 ol & sl (gl o 35 2
QT@MA_.@I.\#@U’@)J?)_;AS(WI g & y9m0 4 aSImosses JLoo oyie jo Jlio (gl -auS o |y zrors 4038 wilgiue
=y S o 5 B o o (e 5l o 5L aS Tichens aalS g oS aalllas |y (LS alaz g o 4 abgy po alaz § 00,5 Gz
oy (50 gno 43S 4 g 0l
(o) ¥ a5 €

fewlilbo b azs o by glp Jalbar @

slaaly, wble (S, @

s jlzo Bgsld g Le s 515 12 S 636 50 11









V09,5 — Y&+ (535

Y€+l

Expend 00,5 Byo Require ol Lo
Effort o Mental S
Crude 03,92 Appreciable RoewE Sy Ak
Copious Olsly2 Evidence S
Biological ) Organ O gas
Nutrient S Olge Increase ools Jiols8l
Strengthen 00,5 o8 Improve 0055 yien
Reduce oole Luals Metabolism 3wy g
Supply 00 o2l Output o33
Stimulate oSl Enhance 0958
Hippocampal VI LIVOVS Throughout 590 !
Engage 009 ;50 Compel 00,5 ,lolg
Boost oole By Faculty B 098
Blissful Slaieiolew Ignorance Je
Suggest olo slerioy Release oo, sl
Capacity bl Poor sl
Result FENY Primary sl
Purpose RV Compare 005 dunslie
Commonplace LY Inaccuracy zuoeols
Explore 00,5 shelS Implication Iyl
Appeal G e Analogy oobd
Chronological Fob sy Description Sloeogs
Invariably oylg0n Promote 005 B
Reveal oS ol Concept Pode
Reluctant Sl Tolerance Jozu
Skeptical abl,s S Neutrality gets
Bolster OOy a3 Allude 09,5 kb
Passage

The most basic definition of work is "energy and effort expended in performance of a task" Essentially, all jobs and

tasks require you to spend energy and effort in some form, be it physical or mental. But even at this crude and

simple level, work has an appreciable effect on the brain that can, and probably does, make us happier. Copious

evidence shows the more physically active you are, the better your brain works. Makes sense, the brain, a

biological organ, needs energy and nutrients (more than other organs). Increased physical activity strengthens and

improves the heart, reduces fat and cholesterol, speeds up metabolism, all of which improves the supply of blood

and nutrients to the brain, increasing its ability to do ... anything, really.
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Physical activity seems to have an even more "direct” effect on the brain by increasing output of Brain Derived
Neurotrophic Factor, BDNF, a protein that stimulates growth and production of new brain cells. This could explain
the many reported neurological benefits of physical activity, such as enhancing learning ability and memory,
increased hippocampal volume and higher levels of gray matter throughout the brain. Studies also suggest that

children who engage in more physical, sporting activity often do better on academic tests.

So if our work compels us to engage in physical activity, the positive effects this has on the brain could well make
us happier. Boosting our learning and related faculties makes us smarter (arguably), and despite the term "blissful
ignorance." evidence suggests that greater intelligence makes you (slightly) happier Also, physical exercise
releases endorphins, which is the "happiness chemical". And, of course, improved general physical health means
we have greater capacity to do things that make us happy, as we aren't held back by poorer health and stress

resulting from no exercise.

). What is the primary purpose of the passage?
V) To compare two explanations for the same phenomenon
Y) To present a commonplace idea and its inaccuracies
Y) To clarify the function of a phenomenon

¢) To explore the implications of a finding

r. Which of the following rhetorical devices is used to advance the argument presented in the passage?
\) Appeal to authority Y) Analogy

Y) Chronological time order £) Physical description

r. . Which of the following statements about fat and cholesterol is supported by the passage?
V) Increased levels of blood fat and cholesterol block the supply of energy and nutrients to the brain
Y) The amount of fat and cholesterol is invariably low in highly intelligent people.
Y) Any attempt to lower fat and cholesterol in the blood promotes metabolism.

£) Reduced fat and cholesterol positively affects brain power.

£.  Which of the following best reveals the author's attitude towards the concept of "blissful ignorance"?
V) Reluctant acceptance
Y) Amused tolerance
Y) Highly skeptical
¢) Studied neutrality

0. What is the author's main purpose in the last sentence of the passage?
V) To contrast the role played by general physical health and mental health in promoting happiness
Y) To shed light on the meaning of happiness chemical" cited in an earlier statement
Y) To further bolster the relationship between physical activity and intelligence

¢) To allude to some indirect effects of physical activity on happiness
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Passage Y

Thousands of people died from the heat that baked Western Europe in the summer of Y- - Y. The heat wave also

devastated the region's agricultural sector : In France, where temperatures were Y ,1°C above normal, the country's

corn and fruit harvests fell more than Yo7.. Thirty-one years earlier, another very hot summer shrank harvests in

southwest Russia and Ukraine and led to a tripling in world grain prices.

By the end of the century, those summers may seem like cool ones and the impact on agriculture will be even

greater. Two researchers applied YY global climate models used by the Intergovernmental Panel and on Climate

Change to estimate end-of-century temperatures. Their conclusions with regard to agriculture are sobering. They

correctly argue that in the past heat waves, drought, and food shortages have hit particular regions, but the future

will be different : Yields are going to be down every place Heat will be the main culprit. If you look at extreme high

temperatures so far observed basically since agriculture started the worst summers on record have been mostly

because of heat, not drought.
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The models predict that by Y - 4 -, the average summer temperature in France will be Y,V 'C above the Y - th century
average. Elevated temperatures not only cause excess evaporations but also speed up plant growth with consequent
reductions in crop yields. Although rising temperatures may initially boost food production in temperate altitudes
by prolonging the growing season, crops will eventually suffer unless growers develop heat-resistant versions that
don't need a lot of water. You have to go back at least several million years before you find temperatures

comparable to those being predicted.

J. According to the passage, the tripling of world grain prices occurred ..............
V) sometime in the Y « th century
Y) when the land under cultivation diminished
Y) when Russia and Ukraine colluded together to abuse the situation generated by an exceptional heat wave
£) due to a reason completely different from the one leading to a drop in corn and fruit harvests in France in

Yeov

F. The word "sobering" in paragraph Y could best be replaced by which of the following?
V) Incredulou Y) Alarming Y) Exaggerated ¢) Fascinating

F.  Which of the following is true based on the findings of the study carried out by the two researchers
mentioned in paragraph Y?
V) Overpopulation would cause people to put more strain on land, leading to more soil erosion.
Y) In the future heat waves would turn out to be as severe as drought and food shortages.
Y) The past heat waves are likely to follow a similar pattern of spread worldwide.

£) Almost all the countries in the world would be affected by future heat waves.

£. The word "those” in paragraph Y refers to ..............

\) years Y) crop versions Y') temperatures £€) crop growers

0. Itcan beinferred from paragraph Y that the development of heat-resistant versions of cropsis .........
\) viable Y) idealistic
Y) far-fetched £) out of the question
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You have to go back at least several million years before you find temperatures comparable to those being
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Passage

For the next ten years, various aspects of society could be going through enormous change as Virtual Reality (VR)
technology moves towards fully operational and interactive implementation of its potential To what extent VR
establishes itself as an integral part of our lives, and how quickly it is likely to move from niche technology to
common usage throughout society, is currently under discussion However, many experts are of the opinion that VR
may well have become sufficiently developed for it to form an essential part of life by Y- Y+ (if not sooner). Over
¢+ million people currently own VR headsets, and this figure is expected to double over the next three years. By
Y - Yo, we may well have reached the point at which almost Y + + million users own a VR viewing device, the Head

Mounted Display (IMD), more commonly known as a VR headset.

The ultimate aim of these headsets is to generate a ¥ - -degree, Y'D virtual world, enabling the viewer to enjoy what
they are watching without the physical limits of a TV, computer or cinema screen There are two LCD displays, one

for each eye, which display images being sent by the computer or some such device (via an HDMI cable) or on the
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screen of a smartphone inserted into the front of the headset. Lenses, set inside the HMD between the user's eyes

and the LCD displays, are necessary to counteract the natural differences between what one human eye and the

other simultaneously see.

These lenses enable two YD images of the display to be viewed thus creating a tailored picture for each eye These
combine to create the illusion of real life in ¥YD. The I[IMD also uses "head tracking’, a system that follows the
principle of aircraft flight, tracking three measurements known as pitch, yaw and roll (or movement along the x, y
and z axes). It means that when the user tilts their head up, down, or to the side, VR follows these motions and

allows them to see all around them.

). Which of the following could best be inferred from the passage about virtual reality?
V) Its potential has not yet been fully materialized
Y) Everyone is preoccupied with what it has offered so far.
Y) It is highly unlikely for it to become an integral part of human life after a decade or so.

£) VR headsets are more popular than the other possibilities in that they have more in stock to

I. Based on the passage, the number of VR headset owners is projected to be which of the following, three

years from now?

V) €+ + million Y)Y+ + million Y) A+ million €) £+ million

F. What does paragraph Y mainly discuss?
\) What the pro and cons of VR headsets are compared to other similar devices
Y) What users are to do to make VR headsets up and running
Y) What VR headsets look like to a detached observer
£) How VR headsets do what they are designed for

£. Which of the following is true about VR headsets' lenses?
V) They create the differences between what each single eye sees.
Y) They are integrated into LCD displays for better effects.
Y) They are necessary for two YD images to be viewed

£) They are inserted into the back of the headsets.

0. Which of the following best describes the author's attitude toward the subject of the passage?
V) Impartial Y) Objective yet concerned

Y) Uncritical approval ¢) Uncertain but interested
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Emerging together from the presolar cauldron, Earth and Venus were endowed with nearly the same size and

composition. Yet they have developed into radically different worlds. The surface temperature of Earth's sister

planet is about £7 - degrees Celsius-hot enough for rocks to glow visibly to any unfortunate carbon-based visitors.

A deadly efficient greenhouse effect prevails, sustained by an atmosphere whose major constituent, carbon dioxide,

is a powerful insulator Liquid water is nonexistent. The air pressure at the surface is almost \ - - times that on

Earth, in many ways it is more an ocean than an atmosphere. A mé lange of gaseous sulfur compounds, along with

what little water vapor there is provides chemical fodder for the globally encircling clouds of sulfuric acid.

This depiction of hell has been brought to us by an armada of Y Y robotic spacecraft that have photographed scanned

analyzed and landed on Venus over the past four decades. Throughout most of that time, however, Venus's

obscuring clouds hindered a full reconnaissance of its surface. Scientists’ view of the planet remained static

because they knew little of any dynamic processes, such as volcanism or tectonism that might have occurred there.
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The Magellan spacecraft changed that perspective. From Y44+ to 44 ¢ it mapped the entire surface of the planet at
high resolution by peening through the clouds with radar. It revealed a planet that has experienced massive
volcanic eruptions in the past and is almost surely active today. Coupled with this probing of Venusian geologic
history, detailed computer simulations have attempted to reconstruct the past billion years of the planet's climate
history. The intense volcanism researchers are realizing, has driven largescale climate change Like Earth but

unlike any other planet astronomers know Venus has a complex evolving climate.

). What is the primary purpose of the passage?
V) To compare and contrast Earth and Venus
Y) To render an account of what Venus really is
Y) To make readers appreciate the conditions on earth

¢) To summarize past attempts to probe the features of Venus

f. The word "that" in paragraph \ refersto ............

\) Venus's atmosphere Y) liquid water Y) Venus's surface £) air pressure

F. Which of the following is true about the surface of Venus?
V) It has experienced sort of weathering due to the clouds covering it.
Y) It was unknown to us until several decades ago.
Y) Geologically, it is anything but active now

£) It makes it hard for spacecraft to land on

£. Which of the following can be inferred from paragraph Y?
V) Earth has a complex, evolving climate.
Y) It is only the Earth that has experienced climate change.
Y) The clouds around Venus are too thick to penetrate by radar.

£) There is not any planet similar to Venus in respect of its harsh conditions

9. What made it possible for us to get the information about Venus described in paragraph \?
V) Venus's similarity to Earth Y) Its common origin with Earth

Y) £+ years of space exploration ¢) Analysis of'its clouds of sulfuric acid
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“The air pressure at the surface is almost ) - + times that on Earth...”
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